	BID RESULTS	NITC								
AB2013-34 BALL FIELD IMPROVEMENTS  July 25, 2013										
COMPLETION: 120 CALENDAR DAYS, \$500.00 PER CD LD; PERFORMANCE AND LABOR AND MATERIAL PAYMENT BOND; UPON ACCEPTANCE; ONE YEAR MAINTENANCE BOND IN THE AMOUNT OF 100%;										
NO. OF RESPONDENTS:	3									
NAME OF BIDDER	SILVERLANDS SERVICES, INC.	LAND-TECH ENTERPRISES, INC.	CARJEN FENCE CO., INC.							
ADDRESS	1059 KING GEORGES POST ROAD, STE. 100	3084 B. BRISTOL ROAD	1223 PARK STREET							
CITY, STATE, ZIP	EDISON, NJ 08837	WARRINGTON, PA 18976	PEEKSKILL, NY 10566							
CONTACT	MADHU RAJAN	MARK STEIN	JOSEPH CALICCHIA, JR.							
TELEPHONE	908 754 7777	215 491 1470 EXT. 100	914 737 7700							
FAX	908 754 7788	215 491 1471	914 737 7730							
E-MAIL	MAIL@SILVERLANDS.US	MSTEIN@LANDTECHENTERPRISES.COM	ADMIN@CARJENFENCE.COM							
INSURANCE REQUIRED FROM AWARDED VENDOR	REQUIRED IF AWARDED									
BID GUARANTEE	HUDSON INSURANCE COMPANY 10% NTE 20K	AEGIS SECURITY INSURANCE COMPANY 10% NTE 20K	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% NTE 20K							
CONSENT OF SURETY	BRUCE M. ALLEN AIF WITH POA	WILLIAM L. RUSHTON AIF WITH POA	DIANA TOLEDO AIF WITH POA							
REFERENCES AND EXPERIENCE	INCLUDED PC TO CHECK	INCLUDED	INCLUDED							
PW CONTRACTOR REGISTRATION	660563 EXPIRES 11/12/13	63552 EXPIRES 5/19/15	673433 EXPIRES 10/1/13							
DEBARRED	NO	NO	NO							
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK							
STOCKHOLDER DISCLOSURE	OK	OK	OK							
EQUIPMENT CERT	OK	OK	OK							
EXECUTIVE ORDER 98-1	OK	OK	OK							
EXHIBIT B	OK	OK	REQUIRED IF AWARDED							
AA201	REQUIRED IF AWARDED									
SAFETY CERT	OK	OK	OK							
BASE BID	\$784,597.00	\$988,900.00	\$987,945.81							
ADD ALTERNATE NO. ONE	\$410,000.00	\$499,800.00	\$544,487.76							
TOTAL AMOUNT WITH ALTERNATE	\$1,194,597.00	\$1,488,700.00	\$1,532,433.57							
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES							
EXCEPTIONS	NONE REFERENCED; MATHEMATICAL ERROR IN BASE BID	NONE	NONE							
FATAL FLAW	NO	NONE	NONE							

## PROPOSAL SCHEDULE OF QUANTITIES AND PRICES SUMMARY

				SILVERLANDS		LAND	-TECH	CARJEN		
ITEM	DESCRIPTION	QTY.	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
Ballfiel	d Improvements									
1	Clearing and Preparation of site, mobilization, and demobilization  MAXIMUM LUMP SUM BID AMOUNT ALLOWED FOR THIS ITEM IS \$15,000.00	1	LS	\$ 15,000.00	\$15,000.00	\$ 15,000.00	\$15,000.00	\$ 14,900.00	\$14,900.00	
2	Demolition of Softball Field 'ST' Press Box (including restoration of area and all incidental earthwork)	1	LS	\$ 9,352.00	\$9,352.00		\$8,900.00		\$15,269.00	
3	Demolition of Softball Field 'ST' Sunken Concrete Block Dugouts (including									
4	restoration of area and all fill necessary to bring area up to grade of existing Furnish and Install 5-Row Wrap Around Bleacher System for Sofbtall Field- 'ST'	2	UN	\$ 3,000.00	\$6,000.00		\$11,700.00		\$13,436.00	
5	(complete construction, including all shop drawings, foundations, and all Furnish and install 5-kow wrap Around Bleacher System for Sorbtall Fleid- '52'	1	LS	\$ 112,000.00	\$112,000.00	\$ 135,000.00	\$135,000.00	\$ 89,057.00	\$89,057.00	
Ů	(complete construction, including all shop drawings, foundations, and all Construct 3' High CMU BIOCK Wall With Brick veneer (complete construction,	1	LS	\$ 83,000.00	\$83,000.00	\$ 114,095.00	\$114,095.00	\$ 75,498.00	\$75,498.00	
6	including footing, reinforcing, brick veneer, finishing and all labor, materials	135	LF	\$ 134.00	\$18,090.00	\$ 600.00	\$81,000.00	\$ 757.62	\$102,278.70	
7	Construct 24" High Rail Fence Backstop System, Full Color System (complete construction including shop drawings, fabrication, poles, hardware,	135	LF	\$ 500.00	\$67,500.00	\$ 570.00	\$76,950.00	\$ 421.39	\$56,887.65	
8	Construct Concrete Walk/Pad for Dugout Areas (4" Thick w/ Sub-base)	775	SY	\$ 50.00	\$38,750.00	\$ 80.00	\$62,000.00	\$ 81.40	\$63,085.00	
9	Construct Concrete Pad within 30' Long Dugout Areas (4" Thick w/ Sub-base)	115	SY	\$ 50.00	\$5,750.00	\$ 80.00	\$9,200.00	\$ 81.40	\$9,361.00	
10	Construct Concrete Pad for Bleacher Areas (6" Thick w/ Sub-base and Rebar)	300	SY	\$ 68.00	\$20,400.00	\$ 105.00	\$31,500.00	\$ 138.57	\$41,571.00	
11	Construct Concrete Pad at Bleacher Locations (4" Thick w/ Sub-base)	115	SY	\$ 50.00	\$5,750.00	\$ 80.00	\$9,200.00	\$ 108.00	\$12,420.00	
12	Furnish and Install 17'-6" High Hooded Chain Link Backstop, Full Color System, (complete construction, including shop submittals, foundations, and all labor	2	UN	\$ 16,000,00	\$32,000.00		\$32,000.00		\$47,063.52	
13	Furnish and Install Dugout Shelter (30" x 7") (complete construction, including shop submittals, foundations, and all labor, materials and permits necessary)		UN	10,000.00						
14		8		,	\$98,000.00		\$116,800.00		\$107,706.24	
15	Furnish and Install 21' Long Players Bench (including foundations)	8	UN	\$ 1,875.00	\$15,000.00		\$16,000.00		\$13,703.44	
16	Furnish and Install 8' High Rail Fence, Full Color System	270	LF	\$ 75.00	\$20,250.00	\$ 85.00	\$22,950.00	\$ 93.30	\$25,191.00	
17	Furnish and Install 8' High Chain Link Fence, Full Color System	310	LF	\$ 50.00	\$15,500.00	\$ 52.00	\$16,120.00	\$ 92.74	\$28,749.40	
	Furnish and Install 6' High Chain Link Fence, Full Color System (1" Fabric)	195	LF	\$ 60.00	\$11,700.00	\$ 65.00	\$12,675.00	\$ 74.31	\$14,490.45	
18	Furnish and Install 6' High Chain Link Fence, Full Color System	195	LF	\$ 35.00	\$6,825.00	\$ 37.00	\$7,215.00	\$ 61.07	\$11,908.65	
19	Furnish and Install 4' High Chain Link Fence, Full Color System	4230	LF	\$ 31.00	\$131,130.00	\$ 34.00	\$143,820.00	\$ 38.41	\$162,474.30	
20	Furnish and Install 12' Wide Chain Link Fence Double Swing Gate, Full Color System (4' High)	8	UN	\$ 1,600.00	\$12,800.00	\$ 1,600.00	\$12,800.00	\$ 1,468.84	\$11,750.72	
21	Furnish and Install 4' Wide Chain Link Fence Gate, Full Color System (4' High)	8	UN	\$ 1,000.00	\$8,000.00	\$ 860.00	\$6,880.00	\$ 1,038.97	\$8,311.76	
22	Furnish and Install 20' High Foul Pole (including foundations)	8	UN	\$ 3,100.00	\$24,800.00	\$ 2,600.00	\$20,800.00	\$ 5,191.56	\$41,532.48	
23	Furnish and Install 6' High Windscreen	195	LF	\$ 10.00	\$1,950.00	\$ 11.00	\$2,145.00	\$ 14.22	\$2,772.90	
24	Furnish and Install 4' High Windscreen	1,190	LF	\$ 9.00	\$10,710.00	\$ 9.00	\$10,710.00	\$ 7.37	\$8,770.30	
25	Furnish and Install 4" Plastic Fence Top Rail Cover	1190	LF	\$ 6.00	\$7,140.00	\$ 6.00	\$7,140.00	\$ 3.77	\$4,486.30	
26	Furnish and Install 6" Perforated HDPE, including filter fabric and stone bedding	300	LF	\$ 24.00	\$7,200.00	\$ 21.00	\$6,300.00	\$ 17.57	\$5,271.00	
		то	TAL BASE BID		\$784,597.00		\$988,900.00		\$987,945.81	
A1	Furnish and Install 8-Row Wrap Around Bleacher System for Baseball Field- "B2" (complete construction, including all shop drawings, foundations, and all	1	LS	\$ 140,612.00	\$140,612.00	\$ 135,165.00	\$135,165.00	\$ 122,713.50	\$122,713.50	

## PROPOSAL SCHEDULE OF QUANTITIES AND PRICES SUMMARY

				SILVERLANDS			LAND	-TECH	CARJEN		
ITEM	DESCRIPTION	QTY.	UNIT	UN	IIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
A2	Construct 3" High Civiu Block Wall With Brick Veneer (complete construction, including footing, reinforcing, brick veneer, finishing and all labor, materials	105	LF	\$	133.00	\$13,965.00	\$ 600.00	\$63,000.00	\$ 790.45	\$82,997.25	
A3	Construct 24" High Kall Fence Backstop System, Full Color System (complete construction including shop drawings, fabrication, poles, hardware,	105	LF	\$	500.00	\$52,500.00	\$ 570.00	\$59,850,00	\$ 374.58	\$39.330.90	
A4	Construct Concrete Walk/Pad for Dugout Areas (4" Thick w/ Sub-base)	570	SY	\$	50.00	\$28,500.00	\$ 80.00	\$45,600.00	\$ 93.60	\$53,352.00	
A5	Construct Concrete Pad for Bleacher Areas (6" Thick w/ Sub-base and Rebar)	260	SY	\$	68.00	\$17,680.00	\$ 105.00	\$27,300.00	\$ 146.38	\$38,058.80	
A6	Furnish and Install Dugout Shelter (45' x 7') (complete construction, including shop submittals, foundations, and all labor, materials and permits necessary)	2	UN	\$	16,000.00	\$32,000.00	\$ 20,400.00	\$40,800.00	\$ 20,668.83	\$41,337.66	
A7	Furnish and Install 21' Long Players Bench (including foundations)	2	UN	\$	1,875.00	\$3,750.00	\$ 2,000.00	\$4,000.00	\$ 2,006.00	\$4,012.00	
A8	Furnish and Install 15' Long Players Bench (including foundations)	2	UN	\$	1,600.00	\$3,200.00	\$ 1,700.00	\$3,400.00	\$ 1,800.00	\$3,600.00	
Α9	Furnish and install 12" High Cháin Link Fence, Full Cólor system (for outrield batter's eye)	66	LF	\$	95.00	\$6,270.00	\$ 95.00	\$6,270.00	\$ 87.79	\$5,794.14	
A10	Furnish and Install 8' High Rail Fence, Full Color System	180	LF	\$	75.00	\$13,500.00	\$ 85.00	\$15,300.00	\$ 90.92	\$16,365.60	
A11	Furnish and Install 6' High Chain Link Fence, Full Color System (1" Fabric)	130	LF	\$	60.00	\$7,800.00	\$ 65.00	\$8,450.00	\$ 85.19	\$11,074.70	
A12	Furnish and Install 6' High Chain Link Fence, Full Color System	1325	LF	\$	36.00	\$47,700.00	\$ 37.00	\$49,025.00	\$ 58.59	\$77,631.75	
A13	Furnish and Install 12' Wide Chain Link Fence Double Swing Gate, Full Color System (6' High)	2	UN	\$	1,500.00	\$3,000.00	\$ 1,600.00	\$3,200.00	\$ 2,211.30	\$4,422.60	
A14	Furnish and Install 4' Wide Chain Link Fence Gate, Full Color System (6' High)	4	UN	\$	900.00	\$3,600.00	\$ 860.00	\$3,440.00	\$ 887.25	\$3,549.00	
A15	Furnish and Install 20' High Foul Pole (including foundations)	2	UN	\$	3,100.00	\$6,200.00	\$ 2,600.00	\$5,200.00	\$ 5,135.13	\$10,270.26	
A16	Furnish and Install 12' High Windscreen	66	LF	\$	38.00	\$2,508.00	\$ 40.00	\$2,640.00	\$ 24.40	\$1,610.40	
A17	Furnish and Install 6' High Windscreen	905	LF	\$	13.00	\$11,765.00	\$ 11.00	\$9,955.00	\$ 9.95	\$9,004.75	
A18	Furnish and Install Silk Screened 12' High Windscreen (36" High Letter or Number) (including all shop submittals)	35	UN	\$	48.00	\$1,680.00	\$ 65.00	\$2,275.00	\$ 103.46	\$3,621.10	
A19	Furnish and Install Silk Screened 6" High Windscreen (36" High Letter or Number) (including all shop submittals)	100	UN	\$	48.00	\$4,800.00	\$ 65.00	\$6,500.00	\$ 87.08	\$8,708.00	
A20	Furnish and Install 4" Plastic Fence Top Rail Cover	775	LF	\$	6.00	\$4,650.00	\$ 6.00	\$4,650.00	\$ 3.81	\$2,952.75	
A21	Furnish and install 6" Perforated норё (including filter rapric and stone bedding)	180	LF	\$	24.00	\$4,320.00	\$ 21.00	\$3,780.00	\$ 22.67	\$4,080.60	
		ADD AL	TERNATE NO. ONE			\$410,000.00		\$499,800.00		\$544,487.76	
		TOTAL	WITH ALTERNATE			\$1,194,597.00		\$1,488,700.00		\$1,532,433.57	

ADDRESS OF NEW PLANTS OF THE PROPERTY.	BID RESULTS	FROM COUNTY PARK
ABZ013-23 NEW PLAZA AND SITE IMPROVEM	IENTS AT THE ICE SKATING RINK AT THE FESTIVAL GROUNDS AT M JULY 25, 2013	ERCER COUNTY PARK
Work will commence within Ten (10) Calendar Days after receipt of written "Notice to Proceed" and be substantially completed by <b>SEPTEMBER 20, 2013.</b> LD in the amount of \$1,000.00 per CD.		
NO. OF RESPONDENTS:	2	
NAME OF BIDDER	WATERS AND BUGBEE, INC.	IEW CONSTRUCTION GROUP, INC.
ADDRESS	75 SOUTH GOLD DRIVE	75 SCULPTORS WAY
CITY, STATE, ZIP	HAMILTON, NJ 08691	TRENTON, NJ 08619
CONTACT	CHARLES P. WATERS	HARRY W. COLEMAN JR.
TELEPHONE	609 584 1100	609 586 5005
FAX	609 584 2200	609 586 0356
E-MAIL	BIDS@WATERSANDBUGBEE.COM	H.COLEMAN@IEWCONSTRUCTION.COM
INSURANCE REQUIRED FROM AWARDED VENDOR	REQUIRED IF AWARDED	REQUIRED IF AWARDED
RECEIPT OF ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED
RECEIPT OF ADDENDUM NO. TWO	SIGNED AND DATED	Signed and dated
BID GUARANTEE	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% NTE 20K	LIBERTY MUTAL INSURANCE COMPANY 10% NTE 20K
CONSENT OF SURETY	Annmarie Keane aif with Poa	ALAN R. HEIN AIF WITH POA
REFERENCES AND EXPERIENCE	INCLUDED PC TO CHECK	INCLUDED
PW CONTRACTOR REGISTRATION	60176 EXPIRES 4/14/14	605640 EXPIRES 5/8/14
DEBARRED	NO	NO
NEW JERSEY BUSINESS REGISTRATION	OK	OK
ELECTRICAL SUBCONTRACTOR LICENSE PW & BRC	T.P BRYAN ELECTRIC COMPANY INC. 59900 EXPIRES 4/30/14; LICENSE 34EB00622200 EXPIRES 3/31/15 BRC OK	WPCS INTERNATIONAL TRENTON, INC. 603522 EXPIRES 5/1/14; LICENSE 34EB01746500 EXPIRES 3/31/15 BRC OK
PLUMBING SUBCONTRACTOR LICENSE PW & BRC	COOPER PLUMBING AND MECHANICAL 628846 EXPIRES 1/27/15; LICENSE 36BI01079000 EXPIRES 6/30/15 BRC OK	PJM MECHANICAL CONTRACTORS, INC. 604648 EXPIRES 5/2/14; LICENSE 36BI00669400 EXPIRES 6/30/15 BRC OK
LANSCAPE IRRIGATION LICENSE/CERTIFICATION	MASTER PLUMBING LICENSE: Plumbing contractors as defined in N.J.S.A. 45:14C-2 are exempt from obtaining Irrigation Cert.	ERIN ENTERPRISES 645090 <b>EXPIRES 7/18/14</b> ; DEP LICENSE FOR JEFFREY SIKORA 0016768 EXPIRES 1/31/15 <b>BRC</b> OK
STOCKHOLDER DISCLOSURE	OK	OK
EQUIPMENT CERT	OK	OK
EXECUTIVE ORDER 98-1	OK	OK
EXHIBIT B	OK	OK
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED
SAFETY CERT	OK	OK
BASE BID		
PAVING AND HARDSCAPE	340,670.18	410,000.00
LANDSCAPING, PLANTING AND RAIN GARDEN	87,064.67	202,000.00
PLAZA SITE LIGHTING	84,366.81	53,000.00
RAIN GARDEN LIGHTING	10,462.00	14,000.00
IRRIGATION SYSTEM	44,689.99	52,000.00
TOTAL BASE BID	567,253.65	731,000.00
Alternate one: Provide and Install Flagpoles and In-Ground Lighting at the ICE Rink Plaza	18,707.20	28,500.00
ALTERNATE TWO: PROVIDE AND INSTALL A TWO-FOOT WIDE PAVED EDGING AT THE WALKWAYS IN THE NEW ICE RINK PLAZA	21,813.33	26,000.00
TOTAL WITH ALTERNATES	607,774.18	785,500.00
HOLD PRICING BEYOND 60 DAYS	YES	YES
EXCEPTIONS	NONE	NONE
FATAL FLAW	NO	NO

		BID RESULTS		
	REBID AB2013-25B PARK	ING AT THE TRENTON-MERCER AIRPORT		
	T	July 25, 2013		
COMPLETION: 85 CALENDAR DAYS, \$10,000.00 PER CD LD; ELECTRICAL WORK; LABOR AND MATERIAL PAYMENT BOND; UPON ACCEPTANCE; 5% OF PROJECT, TWO YEAR MAINTENANCE BOND; TWO ADDENDA				
NO. OF RESPONDENTS:	4			
NAME OF BIDDER	WATERS & BUGBEE, INC.	BLACK ROCK ENTERPRISES LLC	IEW CONSTRUCTION GROUP INC.	GREEN CONSTRUCTION INC.
ADDRESS	75 SOUTH GOLD DRIVE	1316 ENGLISHTOWN ROAD	75 SCULPTORS WAY	26 ELIZABETH STREET
CITY, STATE, ZIP	HAMILTON, NJ 08691	OLD BRIDGE, NJ 08857	TRENTON, NJ 08619	SOUTH RIVER, NJ 08882
CONTACT	CHARLES P. WATERS	JACKUELINE VALE	HARRY W. COLEMAN, JR.	JOSE A. ABREN
TELEPHONE	609 584 1100	732 967 6400	609 586 5005	732 238 9370
FAX	609 584 2200	732 967 6402	609 586 0356	732 613 0838
E-MAIL	BIDS@WATERSANDBUGBEE.COM	JACKIE@BLACKROCKNJ.COM	H.COLEMAN@IEWCONSTRUCTION.COM	INFO@GREENCONSTRUCTIONNJ.COM
INSURANCE REQUIRED FROM AWARDED VENDOR	REQUIRED			REQUIRED
BID GUARANTEE	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% NTE 20K	HUDSON INSURANCE COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K	Fidelity and deposit company of Maryland 10% NTE 20K
CONSENT OF SURETY	ANN MARIE KEANE	LISA NOSAL AIF WITH POA	NEIL C. DONOVAN AIF WITH POA	ALAN R. HEIN AIF WITH POA
REFERENCES AND EXPERIENCE	INCLUDED, C&S TO REVIEW			
ADDENDA ONE AND TWO	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
PW CONTRACTOR REGISTRATION	60176 EXPIRES 4/14/14	667926 EXPIRES 2/8/15	605640 EXPIRES 5/8/14	66907 EXPIRES 6/7/14
DEBARRED	NO			
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK
ELECTRICAL SUBCONTRACTOR PW, LICENSE & BRC	HATZEL & BUEHLER INC. 59682 EXPIRES 5/15/14 34EB01504700 EXPIRES 3/31/15 BRC OK	EDWARD H. CRAY, INC. 604368 EXPIRES 4/28/14DAVID W. CRAY 34EB01160200 EXPIRES 3/31/15 BRC OK	EDWARD H. CRAY, INC. 604368 EXPIRES 4/28/14DAVID W. CRAY 34EB01160200 EXPIRES 3/31/15 BRC OK	EDWARD H. CRAY, INC. 604368 EXPIRES 4/28/14DAVID W. CRAY 34EB01160200 EXPIRES 3/31/15 BRC OK
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK
EQUIPMENT CERT	OK	OK	OK	OK
EXECUTIVE ORDER 98-1	OK	OK	OK	OK
EXHIBIT B	OK	OK	OK	OK
AA201	REQUIRED IF AWARDED			
SCHEDULE OF VALUES	NO	NO	INCLUDED	NO
SAFETY CERT	SIGNED	SIGNED	SIGNED	SIGNED
PARKING CONTROL SYSTEM	3M PARKING SOLUTIONS, DIVISION OF MOTOR VEHICLE SYSTEMS AND SERVICES	NOT REFERENCED	DATA PARK	DATA PARK USA INC.
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES
EXCEPTIONS P72	NONE, SLIGHT MATH ERROR, BASE BID	NONE, MATH ERROR, BASE BID	NONE	NONE
FATAL FLAW	NO	NO	NO	NO



TRENTON-MERCER AIRPORT WEST TRENTON, NJ TERMINAL PARKING AREAS AND ACCESS IMPROVEMENTS

## BASE BID

2013 CONSTRUCTION UNIT PRICES

ITCA A	2013 CONSTRUCTION UNIT PRICES		1	WATERC O	DUCDEE	DI A CI	, DOOK	I.C.		CD.	REEN
NO NO	DESCRIPTION		TOTAL	WATERS &			ROCK	IE			
		UNITS	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	CONSTRUCTION LAYOUT	LS	1	\$50,347.50	\$50,347.50	\$20,157.66	\$20,157.66	\$18,000.00	\$18,000.00	\$50,000.00	\$50,000.00
2	FIELD OFFICE TYPE A SET-UP	UNIT	1	\$11,591.72	\$11,591.72	\$12,500.00	\$12,500.00	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.0
3	FIELD OFFICE TYPE A MAINTENANCE	MONTH	4	\$616.18	\$2,464.72	\$1,850.00	\$7,400.00	\$2,100.00	\$8,400.00	\$2,500.00	\$10,000.0
5	STABILIZED CONSTRUCTION ENTRANCE SILT FENCE	CY LF	88 3,551	\$194.87 \$9.64	\$17,148.56 \$34,231.64	\$37.60 \$3.60	\$3,308.80 \$12,783.60	\$86.00 \$6.00	\$7,568.00 \$21,306.00	\$90.00 \$3.00	\$7,920.00 \$10,653.00
6	HAYBALE	UNIT	3,551	\$117.43	\$34,231.64	\$3.00	\$12,783.00	\$78.00	\$468.00	\$60.00	\$10,055.0
7	TREE PROTECTION	LF	337	\$10.25	\$3,454.25	\$9.60	\$3,235.20	\$11.00	\$3,707.00	\$10.00	\$3,370.00
8	CLEARING SITE	LS	1	\$56,886.28	\$56,886.28	\$116,810.84	\$116,810.84	\$25,000.00	\$25,000.00	\$206,460.19	\$206,460.19
9	TREE REMOVAL, OVER 6" TO 12" DIAMETER	UNIT	20	\$472.50	\$9,450.00	\$1,035.00	\$20,700.00	\$700.00	\$14,000.00	\$1,200.00	\$24,000.00
10 11	TREE REMOVAL, OVER 12" TO 18" DIAMETER	UNIT	47	\$1,050.00	\$49,350.00	\$1,380.00	\$64,860.00	\$1,450.00	\$68,150.00	\$1,800.00	\$84,600.00
12	STRIPPING PAVEMENT REMOVAL	ACRE SY	1,787	\$17,016.61 \$13.65	\$68,066.44 \$24.392.55	\$15,810.00 \$18.00	\$63,240.00 \$32,166.00	\$17,800.00 \$11.00	\$71,200.00 \$19,657.00	\$7,500.00 \$14.00	\$30,000.00 \$25,018.00
13	SOIL SAMPLING AND ANALYSES, REGULATED	LS	1,787	\$6,489.00	\$6,489.00	\$18.00	\$32,166.00	\$17,600.00	\$17,600.00	\$14.00	\$25,018.00
14	EXCAVATION UNCLASSIFIED	CY	8,084	\$64.72	\$523,196.48	\$36.00	\$291,024.00	\$38.00	\$307,192.00	\$45.00	\$363,780.0
15	EXCAVATION, TEST PIT	CY	10	\$684.15	\$6,841.50	\$66.00	\$660.00	\$370.00	\$3,700.00	\$550.00	\$5,500.0
16	GEOTEXTILE, ROADWAY STABILIZATION	SY	15,750	\$1.16	\$18,270.00	\$3.00	\$47,250.00	\$3.00	\$47,250.00	\$2.50	\$39,375.0
17 18	DENSE-GRADED AGGREGATE BASE COURSE, 6* THICK DENSE-GRADED AGGREGATE BASE COURSE, 8* THICK	SY	13,100	\$6.83	\$89,473.00	\$9.60	\$125,760.00	\$9.00	\$117,900.00	\$8.00	\$104,800.00
19	HMA MILLING, 3" OR LESS	SY SY	2,500	\$10.50 \$24.76	\$26,250.00	\$10.80 \$14.40	\$27,000.00	\$12.00 \$9.00	\$30,000.00	\$14.00 \$15.00	\$35,000.00
20	HOT MIX ASPHALT 19M64 BASE COURSE, 3"	TON	750 2,400	\$24.76	\$18,570.00 \$225,288.00	\$14.40	\$10,800.00 \$230,400.00	\$9.00	\$6,750.00 \$211,200.00	\$15.00	\$11,250.00 \$216,000.00
21	HOT MIX ASPHALT 19M64 BASE COURSE, 6"	TON	925	\$93.45	\$86,441.25	\$96.00	\$88,800.00	\$88.00	\$81,400.00	\$90.00	\$83,250.00
22	HOT MIX ASPHALT 12.5M64 SURFACE COURSE, 2"	TON	3,150	\$100.91	\$317,866.50	\$103.20	\$325,080.00	\$94.00	\$296,100.00	\$95.00	\$299,250.00
23	SEALING OF CRACKS IN HOT MIX ASPHALT SURFACE COURSE	LF	3,000	\$0.83	\$2,490.00	\$1.20	\$3,600.00	\$1.00	\$3,000.00	\$5.00	\$15,000.00
24	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4"	LF	21,500	\$0.87	\$18,705.00	\$0.67	\$14,405.00	\$0.70	\$15,050.00	\$0.70	\$15,050.00
25 26	TRAFFIC MARKINGS, THERMOPLASTIC	SF	900	\$4.26	\$3,834.00	\$5.94	\$5,346.00	\$2.30	\$2,070.00	\$2.50	\$2,250.00
27	INLET FILTER TYPE 2 4x4  INLET FILTER TYPE 2 2x4	UNIT	11	\$720.90	\$7,929.90	\$192.00	\$2,112.00	\$300.00	\$3,300.00	\$150.00	\$1,650.00
28	INLET FILTER TYPE 2 2X4 INLET, TYPE E	UNIT	7	\$735.45 \$3,708.59	\$1,470.90 \$25,960.13	\$96.00 \$4,380.00	\$192.00 \$30,660.00	\$300.00 \$4,600.00	\$600.00 \$32,200.00	\$175.00 \$2,700.00	\$350.00 \$18,900.00
29	INLET, TYPE E2	UNIT	1	\$8,974.67	\$8,974.67	\$6,060.00	\$6,060.00	\$5,700.00	\$5,700.00	\$6,500.00	\$6,500.00
30	INLET, TYPE A	UNIT	2	\$3,851.34	\$7,702.68	\$3,180.00	\$6,360.00	\$3,100.00	\$6,200.00	\$2,300.00	\$4,600.00
31	MANHOLE, 4' DIA	UNIT	4	\$4,389.10	\$17,556.40	\$5,448.00	\$21,792.00	\$4,300.00	\$17,200.00	\$3,000.00	\$12,000.00
32	MANHOLE, SQUARE	UNIT	2	\$9,092.15	\$18,184.30	\$8,268.00	\$16,536.00	\$6,400.00	\$12,800.00	\$4,500.00	\$9,000.00
33	SPECIAL MANHOLE, SQUARE	UNIT	1	\$9,537.31	\$9,537.31	\$8,160.00	\$8,160.00	\$6,200.00	\$6,200.00	\$7,500.00	\$7,500.00
35	OUTLET STRUCTURE BASIN 1 OUTLET STRUCTURE BASIN 2	UNIT	1	\$14,238.25 \$15,208.14	\$14,238.25 \$15,208.14	\$9,630.00 \$15,000.00	\$9,630.00 \$15,000.00	\$15,000.00 \$15,000.00	\$15,000.00 \$15,000.00	\$5,500.00 \$6,200.00	\$5,500.00 \$6,200.00
36	OUTLET STRUCTURE BASIN 3	UNIT	1	\$15,777.00	\$15,777.00	\$15,720.00	\$15,720.00	\$16,000.00	\$16,000.00	\$6,200.00	\$6,200.00
37	STORMWATER TREATMENT DEVICE BASIN 1	UNIT	1	\$25,323.13	\$25,323.13	\$24,300.00	\$24,300.00	\$38,000.00	\$38,000.00	\$45,000.00	\$45,000.00
38	STORMWATER TREATMENT DEVICE BASIN 2	UNIT	1	\$17,672.63	\$17,672.63	\$24,300.00	\$24,300.00	\$37,000.00	\$37,000.00	\$45,000.00	\$45,000.00
39	STORMWATER TREATMENT DEVICE BASIN 3	UNIT	1	\$25,191.13	\$25,191.13	\$24,300.00	\$24,300.00	\$23,000.00	\$23,000.00	\$45,000.00	\$45,000.00
40 41	CONCRETE HEADWALL	CY	7	\$1,314.08	\$9,198.56	\$930.00	\$6,510.00	\$2,900.00	\$20,300.00	\$1,100.00	\$7,700.00
42	15" REINFORCED CONCRETE END SECTION 24" REINFORCED CONCRETE END SECTION	UNIT	3	\$2,411.14 \$3,195.58	\$7,233.42 \$3,195.58	\$3,000.00 \$3,600.00	\$9,000.00 \$3,600.00	\$2,700.00 \$3,300.00	\$8,100.00 \$3,300.00	\$1,500.00 \$2,500.00	\$4,500.00 \$2,500.00
43	ANTISEEP COLLAR	CY	2	\$3,924.85	\$7,849.70	\$3,000.00	\$3,000.00	\$4,000.00	\$8,000.00	\$1,500.00	\$3,000.00
44	CLEANOUT	UNIT	23	\$1,340.82	\$30,838.86	\$600.00	\$13,800.00	\$600.00	\$13,800.00	\$1,063.00	\$24,449.00
45	12" RCP	LF	125	\$106.44	\$13,305.00	\$68.40	\$8,550.00	\$89.00	\$11,125.00	\$115.00	\$14,375.00
46	15" RCP CL V	LF	63	\$152.44	\$9,603.72	\$73.20	\$4,611.60	\$116.00	\$7,308.00	\$125.00	\$7,875.00
47 48	15" RCP	LF	111	\$176.19	\$19,557.09	\$78.00	\$8,658.00	\$100.00	\$11,100.00	\$115.00	\$12,765.00
40	24" RCP	LF LF	23	\$123.89 \$128.04	\$2,849.47	\$79.20 \$62.40	\$1,821.60	\$158.00	\$3,634.00	\$130.00 \$80.00	\$2,990.00
50	15" H.D.P.E. 18" H.D.P.E.	LF	165 189	\$128.04	\$21,126.60 \$19,557.72	\$62.40	\$10,296.00 \$12,700.80	\$83.00 \$77.00	\$13,695.00 \$14,553.00	\$80.00	\$13,200.00 \$16,065.00
51	24" H.D.P.E.	LF	1,020	\$67.84	\$69.196.80	\$106.80	\$108,936.00	\$117.00	\$119,340.00	\$125.00	\$127.500.00
52	30" H.D.P.E.	LF	75	\$182.79	\$13,709.25	\$90.00	\$6,750.00	\$110.00	\$8,250.00	\$135.00	\$10,125.00
53	36" H.D.P.E.	LF	273	\$183.65	\$50,136.45	\$114.00	\$31,122.00	\$102.00	\$27,846.00	\$145.00	\$39,585.00
54	RESET EXISTING CASTING	UNIT	2	\$2,077.84	\$4,155.68	\$360.00	\$720.00	\$1,000.00	\$2,000.00	\$750.00	\$1,500.00
55 56	RIP-RAP OUTLET PROTECTION	CY	75	\$255.42	\$19,156.50	\$114.00	\$8,550.00	\$227.00	\$17,025.00	\$120.00	\$9,000.00
57	CLAY CORE TOPSOIL 5" THICK	CY	346 11 248	\$114.06 \$1.21	\$39,464.76 \$13,610.08	\$78.00 \$6.00	\$26,988.00 \$67,488.00	\$142.00 \$3.50	\$49,132.00	\$55.00 \$4.00	\$19,030.00 \$44.992.00
58	TOPSOIL 5" THICK FERTILIZING AND SEEDING, TYPE M	SY SY	11,248 11,248	\$1.21 \$0.95	\$13,610.08 \$10,685.60	\$6.00 \$0.90	\$67,488.00 \$10,123.20	\$3.50 \$0.90	\$39,368.00 \$10,123.20	\$4.00	\$44,992.00 \$5,624.00
59	STRAW MULTCH	SY	11,248	\$0.57	\$6,411.36	\$0.54	\$6,073.92	\$0.90	\$10,123.20	\$0.50	\$5,624.0
60	ADDITIONAL COURSE AGGREGATE #57 (IWD)	CY	200	\$39.36	\$7,872.00	\$48.00	\$9,600.00	\$37.00	\$7,400.00	\$35.00	\$7,000.0
61	SOIL AGGREGATE I-9 (IWD)	CY	200	\$39.36	\$7,872.00	\$42.00	\$8,400.00	\$59.00	\$11,800.00	\$30.00	\$6,000.0
62	REMOVAL OF TRAFFIC STRIPES	LF	4,250	\$0.51	\$2,167.50	\$0.79	\$3,357.50	\$0.65	\$2,762.50	\$0.60	\$2,550.0
63 64	REMOVAL OF TRAFFIC MARKINGS LIGHT POLE FOUNDATION	SF	450	\$2.10	\$945.00	\$2.38	\$1,071.00	\$2.90	\$1,305.00	\$3.00	\$1,350.0
65	LIGHTING STANDARD ALUMINUM	UNIT	27 22	\$1,883.02 \$1,687.14	\$50,841.54 \$37,117.08	\$2,100.00 \$1,800.00	\$56,700.00 \$39,600.00	\$2,050.00 \$1,760.00	\$55,350.00 \$38,720.00	\$2,220.54 \$1,903.32	\$59,954.5 \$41,873.0
66	LUMINAIRE	UNIT	26	\$1,687.14	\$17,983.42	\$1,800.00	\$42,588.00	\$1,760.00	\$38,720.00	\$1,903.32	\$41,873.0
67	RELOCATE LIGHTING STANDARD	UNIT	5	\$996.06	\$4,980.30	\$960.00	\$4,800.00	\$940.00	\$4,700.00	\$1,015.11	\$5,075.5
68	2 1/2" RIGID NONMETALLIC CONDUIT	LF	510	\$16.91	\$8,624.10	\$24.00	\$12,240.00	\$23.50	\$11,985.00	\$25.00	\$12,750.0
69	2 1/2" RIGID METALLIC CONDUIT	LF	300	\$44.89	\$13,467.00	\$36.00	\$10,800.00	\$35.00	\$10,500.00	\$38.00	\$11,400.0
70	2" RIGID NONMETALLIC CONDUIT	LF	2,160	\$4.66	\$10,065.60	\$22.80	\$49,248.00	\$22.00	\$47,520.00	\$24.00	\$51,840.0
71 72	2" RIGID METALLIC CONDUIT  1 1/2" RIGID NONMETALLIC CONDUIT	LF	175	\$60.04	\$10,507.00	\$36.00	\$6,300.00	\$35.00	\$6,125.00	\$38.00	\$6,650.0
73	1 1/2 RIGID NONMETALLIC CONDUIT	LF LF	5,800 1,370	\$8.67 \$31.79	\$50,286.00 \$43,552.30	\$21.60 \$36.00	\$125,280.00 \$49,320.00	\$21.00 \$35.00	\$121,800.00 \$47,950.00	\$22.00 \$37.00	\$127,600.0 \$50,690.0
74	1" RIGID NONMETALLIC CONDUIT	LF	2,400	\$5.50	\$13,200.00	\$36.00	\$49,320.00	\$35.00	\$47,950.00	\$37.00	\$50,690.0
75	1" RIGID METALLIC CONDUIT	LF	460	\$32.19	\$14,807.40	\$36.00	\$16,560.00	\$35.00	\$16,100.00	\$37.00	\$17,020.0
76	3/4" RIGID NONMETALLIC CONDUIT	LF	65	\$4.61	\$299.65	\$43.20	\$2,808.00	\$20.00	\$1,300.00	\$20.00	\$1,300.0
	3/4" RIGID METALLIC CONDUIT	LF	1,350	\$15.79	\$21,316.50	\$36.00	\$48,600.00	\$35.00	\$47,250.00	\$35.00	\$47,250.0
77		LI	1,330	\$13.79	\$21,510.50	400.00	Ψ10,000.00	*****	4,======	Ψ00.00	
77 78 79	GROUND WIRE, NO. 10 AWG GROUND WIRE, NO. 4 AWG	LF LF	215 3,250	\$1.07 \$2.34	\$230.05 \$7,605.00	\$2.40 \$3.60	\$516.00 \$11,700.00	\$2.50 \$3.50	\$537.50 \$11,375.00	\$2.00	\$430.00 \$9,750.00

ITEM				WATERS 8	& BUGBEE	BLACK	K ROCK	IE	W	(	GREEN
NO	DESCRIPTION		TOTAL	UNIT PRICE	TOTAL	UNIT PRICE		UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
80	GROUND WIRE, NO. 3 AWG	UNITS	QUANTITY 1,500	\$2.66	\$3,990.00	\$3.60	TOTAL \$5,400.00	\$3.50	\$5,250.00	\$3.00	\$4,500.00
81	GROUND WIRE, NO. 2 AWG	LF	2,460	\$3.04	\$7,478.40	\$4.80		\$4.70	\$11,562.00		\$12,300.00
82	GROUND WIRE, NO. 2/0 AWG GROUND WIRE, NO. 3/0 AWG	LF LF	725	\$5.00	\$3,625.00	\$9.60		\$9.40	\$6,815.00	\$10.00	\$7,250.00
84	MULTIPLE LIGHTING WIRE, NO. 4 AWG	LF	810 6,500	\$5.90 \$1.17	\$4,779.00 \$7,605.00	\$9.60 \$3.60	\$7,776.00 \$23,400.00	\$9.40 \$3.50	\$7,614.00 \$22,750.00	\$10.00 \$3.00	\$8,100.00 \$19,500.00
85	SERVICE WIRE, NO. 10 AWG.	LF	430	\$1.07	\$460.10	\$2.40	\$1,032.00	\$2.40	\$1,032.00	\$2.00	\$860.00
86 87	SERVICE WIRE, NO. 3 AWG. SERVICE WIRE, NO. 2 AWG.	LF LF	3,000 4,920	\$2.66 \$3.04	\$7,980.00 \$14,956.80	\$3.60		\$3.50	\$10,500.00	\$3.00 \$5.00	\$9,000.00
88	SERVICE WIRE, NO. 2/0 AWG.	LF	1,450	\$5.00	\$7,250.00	\$4.80 \$9.60	\$23,616.00 \$13,920.00	\$4.70 \$4.70	\$23,124.00 \$6,815.00		\$24,600.00 \$14,500.00
89	SERVICE WIRE, NO. 3/0 AWG.	LF	1,620	\$5.90	\$9,558.00	\$9.60	\$15,552.00	\$9.40	\$15,228.00		\$16,200.00
90	JUNCTION BOX JUNCTION BOX FOUNDATION	UNIT	14	\$4,242.15	\$59,390.10	\$4,200.00	\$58,800.00	\$4,100.00	\$57,400.00	\$4,000.00	\$56,000.00
92	JUNCTION BOX FRAME AND COVER	UNIT	14 14	\$85.47 \$2,310.87	\$1,196.58 \$32,352.18	\$4,800.00 \$1,800.00	\$67,200.00 \$25,200.00	\$4,700.00 \$1,760.00	\$65,800.00 \$24,640.00	\$4,500.00 \$1,900.00	\$63,000.00 \$26,600.00
93	CABLE RACK	UNIT	56	\$153.88	\$8,617.28	\$90.00	\$5,040.00	\$88.00	\$4,928.00	\$75.00	\$4,200.00
94 95	JUNCTION BOX MODIFICATIONS  GAS UTILITY RELOCATION ALLOWANCE	UNIT	5	\$947.10	\$4,735.50	\$1,920.00	\$9,600.00	\$1,900.00	\$9,500.00		\$10,000.00
96	ELECTRICAL UTILITY RELOCATION ALLOWANCE	LS LS	\$ 10,000.00 \$ 30,000.00	\$1.00 \$1.00	\$10,000.00 \$30,000.00	\$1.00 \$1.00	\$10,000.00 \$30,000.00	\$1.00 \$1.00	\$10,000.00 \$30,000.00	\$1.00 \$1.00	\$10,000.00 \$30,000.00
97	9" X 18" CONCRETE VERTICAL CURB	LF	440	\$23.10	\$10,164.00	\$38.40	\$16,896.00	\$37.00	\$16,280.00	\$35.00	\$15,400.00
98	9" X 18" CONCRETE SLOPING CURB  CONCRETE SIDEWALK, REINFORCED, 4" THICKNESS	LF	60	\$24.15	\$1,449.00	\$42.00		\$39.00	\$2,340.00		\$2,100.00
100	CONCRETE ISLAND, 18" THICK	SY SY	410 55	\$70.69 \$283.50	\$28,982.90 \$15,592.50	\$78.00 \$300.00	\$31,980.00 \$16,500.00	\$90.00 \$210.00	\$36,900.00 \$11,550.00	\$95.00 \$275.00	\$38,950.00 \$15,125.00
101	DETECTABLE WARNING SURFACES	SY	4	\$220.50	\$882.00	\$360.00	\$1,440.00	\$250.00	\$1,000.00		\$1,100.00
102	REGULATORY AND WARNING SIGNS	SF	285	\$44.63	\$12,719.55	\$48.00	\$13,680.00	\$29.00	\$8,265.00	\$45.00	\$12,825.00
103	RELOCATE SIGN GUIDE SIGN, TYPE GA, STEEL "U" POST SUPPORTS	UNIT	210	\$497.74 \$44.63	\$1,990.96 \$9,372.30	\$180.00 \$50.40	\$720.00 \$10,584.00	\$59.00 \$30.00	\$236.00 \$6,300.00	\$175.00 \$55.00	\$700.00 \$11,550.00
105	CHAIN LINK FENCE, 10' HIGH	LF	600	\$37.80	\$22,680.00	\$54.00	\$32,400.00	\$57.00	\$34,200.00	\$45.00	\$27,000.00
106	REMOVAL OF BEAM GUIDE RAIL	LF	25	\$2.10	\$52.50	\$3.60	\$90.00	\$29.00	\$725.00		\$50.00
107	BEAM GUIDE RAILING, W-BEAM BEAM GUIDE RAIL POST	LF UNIT	730 130	\$22.05 \$36.75	\$16,096.50 \$4,777.50	\$28.80 \$46.80	\$21,024.00 \$6,084.00	\$13.00 \$106.00	\$9,490.00 \$13,780.00	\$26.00 \$45.00	\$18,980.00 \$5,850.00
109	CONTROLLED RELEASE TERMINAL	UNIT	3	\$2,257.50	\$6,772.50	\$2,850.00	\$8,550.00	\$3,600.00	\$13,780.00		\$8,100.00
110	TANGENT GUIDE RAIL TERMINAL	UNIT	4	\$2,514.75	\$10,059.00	\$3,180.00	\$12,720.00	\$4,000.00	\$16,000.00	\$3,000.00	\$12,000.00
111	EXTRUDER TERMINAL BEAM GUIDE RAIL ANCHORAGE	UNIT	4	\$1,937.25	\$7,749.00	\$2,460.00	\$9,840.00	\$1,100.00	\$4,400.00		\$9,200.00 \$9,000.00
113	24" X 32" CONCRETE BARRIER CURB	UNIT	6 20	\$1,312.50 \$105.05	\$7,875.00 \$2,101.00	\$1,680.00 \$120.00	\$10,080.00 \$2,400.00	\$1,000.00 \$60.00	\$6,000.00 \$1,200.00	\$1,500.00 \$100.00	\$9,000.00
114	PEDESTRIAN HANDRAILING	LF	100	\$91.35	\$9,135.00	\$115.20	\$11,520.00	\$160.00	\$16,000.00	\$125.00	\$12,500.00
115 116	TRAFFIC CONTROL  CONSTRUCTION SIGNS	LS	1	\$7,913.78	\$7,913.78	\$140,400.00	\$140,400.00	\$1,000.00	\$1,000.00		\$5,000.00
117	DRUM SIGNS	SF UNIT	546 100	\$13.39 \$67.99	\$7,310.94 \$6,799.00	\$18.00 \$78.00	\$9,828.00 \$7,800.00	\$11.00 \$38.00	\$6,006.00 \$3,800.00	\$13.00 \$100.00	\$7,098.00 \$10,000.00
118	BOLLARD	UNIT	4	\$519.75	\$2,079.00	\$1,800.00		\$1,000.00	\$4,000.00	\$700.00	\$2,800.00
119	FUEL PRICE ADJUSTMENT	DOLLAR		\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00
121	MOBILIZATION (4% MAXIMUM)	DOLLAR LS	\$ 20,000.00	\$1.00 \$106,652.59	\$20,000.00 \$106,652.59	\$1.00 \$133,023.43	\$20,000.00 \$133,023.43	\$1.00 \$117,000.00	\$20,000.00 \$117.000.00	\$1.00 \$125,000.00	\$20,000.00 \$125,000.00
				4	4	,		***************************************	***************************************	0.20,000	4.20,000.00
-	TOTAL ESTIMATED CONSTRUCTION COST										
	TOTAL ESTIMATED CONSTRUCTION COST				\$3,111,791.64		\$3,494,580.15		\$3,232,800.40		\$3,485,888.88
					\$3,111,791.64		\$3,494,580.15		\$3,232,800.40		\$3,485,888.88
	TOTAL ESTIMATED CONSTRUCTION COST  TOTAL ESTIMATED PROJECT COST - BASE BID				\$3,111,791.64 \$3,111,791.64		\$3,494,580.15 \$3,494,580.15		\$3,232,800.40 \$3,232,800.40		\$3,485,888.88 \$3,485,888.88
	TOTAL ESTIMATED PROJECT COST - BASE BID										
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID	LIMITE	TOTAL		\$3,111,791.64		\$3,494,580.15		\$3,232,800.40		\$3,485,888.88
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1	UNITS	TOTAL								
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES	EA	TOTAL QUANTITY 8		\$3,111,791.64		\$3,494,580.15		\$3,232,800.40		\$3,485,888.88
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS	EA EA	QUANTITY 8 8		\$3,111,791.64 TOTAL \$0.00 \$0.00		\$3,494,580.15 TOTAL \$0.00 \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0.00		\$3,485,888.88 TOTAL \$0.00
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES	EA EA	OUANTITY  8  8  4		\$3,111,791.64 TOTAL \$0.00 \$0.00		\$3,494,580.15 TOTAL \$0.00 \$0.00 \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0.00 \$0.00		\$3,485,888.88 TOTAL
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS ENTRY TERMINAL (TICKET DISPENSER) EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET) WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT	EA EA EA EA	8 8 4 4 1 1		\$3,111,791.64 TOTAL \$0.00 \$0.00		\$3,494,580.15  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0.00		\$3,485,888.88 TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS ENITRY TERMINAL (TICKET DISPENSER) EXIT TERMINAL (TICKET DISPENSER) EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET) WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT FEE COMPUTER	EA EA EA LS	8 8 4 4 1 1 1		\$3,111,791.64 TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,494,580.15 TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,485,888.88 TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
ITEM	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS ENTRY TERMINAL (TICKET DISPENSER) EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET) WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT	EA EA EA EA	8 8 4 4 1 1		\$3,111,791.64  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,494,580.15  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,485,888.88 TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
11 2 3 4 5 6 7 8 9 9	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  EXITY TERMINAL (IICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)	EA EA EA LS EA LS EA LS LS LS	8 8 4 4 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,485,888.88 TOTAL \$0.00 \$
1 2 3 4 5 6 7 8 9 10	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS ENTRY TERMINAL (TICKET DISPENSER) ENTRY TERMINAL (TICKET DISPENSER) EXIT TERMINAL (TICKET DISPENSER) WALK UP PAY STATION NO. 1. (TERMINAL BULDING - CASH & CREDIT/DEBIT FEE COMPUTER PARKING FACILITY MANAGEMENT SERVER & SOFTWARE INTERIOR BUILDING CONDUIT & CABLING POWER & CONTROL CABLING (INTERIOR & EXTERIOR) BACKBONE CABLING	EA EA EA LS EA LS LS LS LS LS	8 8 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,494,580.15 TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,485,888.88  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
11 2 3 4 5 6 7 8 9 9	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS ENTRY TERMINAL (TICKET DISPENSER) ENTRY TERMINAL (TICKET DISPENSER) ENTRY TERMINAL (TICKET DISPENSER) WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT FEE COMPUTER PARKING FACILITY MANAGEMENT SERVER & SOFTWARE INTERIOR BUILDING CONDUIT & CABLING POWER & CONTROL CABLING (INTERIOR & EXTERIOR) BACKBONE CABLING MISCELLANEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT	EA EA EA LS EA LS LS LS LS LS LS	8 8 4 4 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,485,888.88  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
1 2 3 4 5 6 7 8 9 10 11	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  EXITY TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXITY TERMINA	EA EA EA LS EA LS LS LS LS LS	8 8 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,494,580.15 TOTAL \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$3,485,888.88 TOTAL \$0,000
11EM NO 1 2 3 4 5 6 7 8 9 10 11 12 13 14	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS ENTRY TERMINAL (TICKET DISPENSER) ENTRY TERMINAL (TICKET DISPENSER) ENTRY TERMINAL (TICKET DISPENSER) WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE INTERIOR BUILDING CONDUIT & CABLING POWER & CONTROL CABLING (INTERIOR & EXTERIOR) BACKBONE CABLING MISCELLANEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT INSTALLATION, TERMINATION & TESTING SIGNAGE SPARE GATE ARM	EA EA EA LS EA LS	B 8 8 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88 TOTAL \$0.00 \$
11EM NO 1 2 3 4 5 6 7 8 9 10 11 12 13	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  EXITY TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (TICKET DISPENSER)  EXITY TERMINA	EA EA EA LS EA LS	8 8 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
11 2 3 4 5 6 7 8 9 10 11 12 13 14 15	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET DISPENSER MECHANISM	EA EA EA LS EA LS	QUANIIIY		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0,00
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET DISPENSER MECHANISM	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0,000
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (TICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET DISPENSER MECHANISM	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0,000
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM  SPARE TICKET READER MECHANISM  100,000 BARCODE TICKETS	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM  SPARE TICKET READER MECHANISM  100,000 BARCODE TICKETS	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM  SPARE TICKET READER MECHANISM  100,000 BARCODE TICKETS	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15 TOTAL \$0.00 \$		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM  SPARE TICKET READER MECHANISM  TOTAL ESTIMATED CONSTRUCTION COST	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM  SPARE TICKET READER MECHANISM  TOTAL ESTIMATED CONSTRUCTION COST	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
11 2 3 4 4 5 5 6 6 7 7 8 9 10 11 12 13 14 15 16 17 18	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS  ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM  SPARE TICKET READER MECHANISM  TOTAL ESTIMATED CONSTRUCTION COST	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
NO 1 1 2 3 4 5 6 6 7 7 8 9 10 11 12 13 14 15 16 17 18 18 17 18 18 18 18 18 18 18 18 18 18 18 18 18	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS VEHICLE DETECTORS ENTRY TERMINAL (ICKET DISPENSER) EXIT TERMINAL (ICKET DISPENSER & SOFTWARE INTERIOR BUILDING CONDUIT & CABLING PARKING FACILITY MANAGEMENT SERVER & SOFTWARE INTERIOR BUILDING CONDUIT & CABLING POWER & CONTROL CABLING (INTERIOR & EXTERIOR) BACKBONE CABLING MISCELLANEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT INSTALLATION, TERMINATION & TESTING SIGNAGE SPARE GATE ARM SPARE TICKET DISPENSER MECHANISM SPARE TICKET DISPENSER MECHANISM SPARE TICKET DISPENSER MECHANISM 100,000 BARCODE TICKETS  TOTAL ESTIMATED CONSTRUCTION COST  ON BID NO. 2	EA EA EA EA LS EA LS	OUANIIIY		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0		\$3,485,888.88  TOTAL  \$0,00 \$0,000 \$0
11 2 3 4 5 6 6 7 8 9 10 11 12 13 14 15 16 17 18 18 17 18 18 18 18 18 18 18 18 18 18 18 18 18	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES  VEHICLE DETECTORS ENTRY TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (ICKET DISPENSER)  EXIT TERMINAL (CREDIT/DEBIT/VALIDATED TICKET)  WALK UP PAY STATION NO. 1 (TERMINAL BULDING - CASH & CREDIT/DEBIT  FEE COMPUTER  PARKING FACILITY MANAGEMENT SERVER & SOFTWARE  INTERIOR BUILDING CONDUIT & CABLING  POWER & CONTROL CABLING (INTERIOR & EXTERIOR)  BACKBONE CABLING  MISCELLANLEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT  INSTALLATION, TERMINATION & TESTING  SIGNAGE  SPARE GATE ARM  SPARE TICKET DISPENSER MECHANISM  SPARE TICKET READER MECHANISM  SPARE TICKET READER MECHANISM  SPARE CASH DISPENSER MECHANISM  100,000 BARCODE TICKETS  TOTAL ESTIMATED CONSTRUCTION COST	EA EA EA LS EA LS	B 8 8 4 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00		\$3,485,888.88  TOTAL  \$0.00
ITEM NO 1 1 2 3 4 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 15 16 17 18 17 18 17 18 17 18 18 18 18 18 18 18 18 18 18 18 18 18	TOTAL ESTIMATED PROJECT COST - BASE BID  ON BID NO. 1  DESCRIPTION  AUTOMATIC BARRIER GATES VEHICLE DETECTORS VEHICLE DETECTORS ENTRY TERMINAL (ICKET DISPENSER) EXIT TERMINAL (ICKET DISPENSER & SOFTWARE INTERIOR BUILDING CONDUIT & CABLING PARKING FACILITY MANAGEMENT SERVER & SOFTWARE INTERIOR BUILDING CONDUIT & CABLING POWER & CONTROL CABLING (INTERIOR & EXTERIOR) BACKBONE CABLING MISCELLANEOUS TRANSMISSION & INFRASTRUCTURE EQUIPMENT INSTALLATION, TERMINATION & TESTING SIGNAGE SPARE GATE ARM SPARE TICKET DISPENSER MECHANISM SPARE TICKET DISPENSER MECHANISM SPARE TICKET DISPENSER MECHANISM 100,000 BARCODE TICKETS  TOTAL ESTIMATED CONSTRUCTION COST  ON BID NO. 2	EA EA EA EA LS EA LS	B 8 8 4 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$3,111,791.64  TOTAL  \$0.00		\$3,494,580.15  TOTAL  \$0.00		\$3,232,800.40  TOTAL  \$0.00 \$0		\$3,485,888.88  TOTAL  \$0,00 \$0,000 \$0

ITEM			W		& BUGBEE	BLACK ROCK		IEW		GREEN	
NO	DESCRIPTION	UNITS	TOTAL QUANTITY	UNIT PRICE	TOTAL						
2	INTERIOR & EXTERIOR CONDUIT	LS	1		\$0.00		\$0.00		\$0.00		\$0.00
3	POWER & CONTROL CABLING (INTERIOR & EXTERIOR)	LS	1		\$0.00		\$0.00		\$0.00		\$0.00
					\$0.00				\$0.00		\$0.00
					\$0.00				\$0.00		\$0.00
	TOTAL ESTIMATED CONSTRUCTION COST				\$0.00		\$0.00		\$0.00		\$0.00
					\$0.00				\$0.00		\$0.00
					\$0.00		\$0.00		\$0.00		\$0.00
	TOTAL ESTIMATED PROJECT COST - ADD ON BID NO. 2										
	TOTAL ESTIMATED PROJECT COST - ADD ON BID NO. 2				\$48,955.60		\$48,420.00		\$81,329.53		\$48,000.00
	TOTAL ESTIMATED CONSTRUCTION COST				\$3,440,712.34		\$3,591,420.15		\$3,624,013.29		\$3,858,888.88
					\$0.00		\$0.00		\$0.00		\$0.00
	TOTAL ESTIMATED PROJECT COST				\$3,440,712.34		\$3,591,420.15		\$3,624,013.29		\$3,858,888.88